

المسألة

$$(2) f(x) = |8x - x^2| \sqrt{ax}$$

$$x = \frac{y}{z} \quad r\sqrt{y}$$

$$\rightarrow \frac{y}{z} + \rightarrow (8x - x^2) \sqrt{ax} \rightarrow \xi \sqrt{ax} + \frac{a}{r\sqrt{ax}} (8x - x^2) = \sqrt{y}$$

$$\frac{y}{z} - \frac{1}{r\sqrt{y}}$$

$$\sqrt{14ax} = \sqrt{y} \quad 14ax = y \quad x = \frac{y}{14} \Rightarrow 14a = y \Rightarrow a = \frac{1}{14}$$

$$(3) y + ax = y$$

$$f(z) + f'(z) = -1$$

$$y = -ax + y$$

$$f(z) = -(a + y)$$

$$\oplus \rightarrow -a + y = -1$$

$$f'(z) = -a$$

$$8a = y \Rightarrow a = \frac{y}{8}$$

$$y = \frac{-y}{8} x + y$$

$$x = z \quad \frac{-1y}{8} + \frac{10}{8} \Rightarrow \frac{-y}{8} \Rightarrow -\frac{y}{8}$$

$$-\frac{y}{8}$$

$$a = \frac{y}{8}$$

$$(2) y^2 - x = x$$

$$y = \frac{ax - 1}{r(x + 1)}$$

$$\frac{ax - 1}{r(x + 1)} = \frac{x + a}{y}$$

$$y = \frac{x + a}{y}$$

$$yax - y = yx + ya + x \quad (\Delta = 0)$$

$$\rightarrow yx + (ya - ya)x + x = 0$$

$$\frac{ya - ya}{y} = -x$$

$$x^2 + \frac{(ya - ya)}{y} x + x = 0$$

$$ya - ya = -y$$

$$ya = ya \Rightarrow a = \frac{y}{y}$$

$$(4) f(x) = x^2 + ax - b \rightarrow yx^2 + a$$

$$C(x) = x^2 + 5x + 1 \quad (x^2 + 5x + 1)$$

$$1 + ya - b = 0$$

$$1 + a = 0 \rightarrow a = -1$$

$$b = 14$$

$$b - a = -14 + 1 = -13$$

الجواب

$$-13$$

2.12.15

① $g(u) = f(\tan^2 u + \sqrt{r} \cos u)$

$g'(\frac{\pi}{4}) = \sqrt{3}$

$f'(r)$

$g'(u) = f'(\tan^2 u + \sqrt{r} \cos u) \times (\cancel{2 \tan u} \times \frac{1}{\cos^2 u} + -\sqrt{r} \sin u)$

$\sqrt{3} = f'(r) \times 3 \Rightarrow f'(r) = \frac{\sqrt{3}}{3}$

② $f(u) = \frac{1 + \cos^2 u}{1 - \cos^2 u}$

$g(u) = \frac{r}{r - \cos u}$

$\frac{r - \cos u}{r + \cos u}$

$r \sin u \cos u$

$f'(\frac{\pi}{4}) = r g'(\frac{\pi}{4})$

$f'(u) = \frac{r \cos^2 u - \sin(u - \cos u) - (\sin u \times 1 + \cos^2 u)}{(1 - \cos^2 u)^2}$

$g'(u) = \frac{-\sin u}{(r - \cos u)^2} \Rightarrow \frac{+1 \sin u (r + \cos)^2}{(r - \cos^2 u)^2}$

$$\frac{(r + \cos)(\sin) (r \cos^2 - r \cos^2)}{(1 - \cos^2 u)^2}$$

9

$$f(x) = (x^r + 1)(ax + 1)$$

2/1/2020

~~$$f(x) = (x^r + 1)(ax + 1)$$~~

$$\frac{1 + 1a - 1}{1} = -11$$

$$\frac{f(0) - f(-1)}{1} \Rightarrow \frac{1 - (-1a + 1)}{1} = -11$$

$$1a - 1 = -11$$

$$1a = -10$$

$$a = -10$$

$$\rightarrow -ra = 1$$

$$(x^r + 1)\left(-\frac{1}{r}x + 1\right)$$

$$r(x^r + 1)\left(-\frac{1}{r}x + 1\right) + \frac{1}{r}(x^r + 1) = 2$$

10 $\left[\frac{\pi}{r}, \frac{\pi}{r}\right]$

$$y = \sin x \cos x$$

$$y = \sin^2 x - \cos^2 x$$

$$\frac{f\left(\frac{\pi}{r}\right) - f\left(\frac{\pi}{r}\right)}{\frac{\pi}{r}}$$

$$\frac{-1 - (0)}{\frac{\pi}{r}}$$

$$\frac{1 - (0)}{\frac{\pi}{r}}$$

$$\begin{pmatrix} \sin^2 + \cos^2 \\ \sin^2 - \cos^2 \end{pmatrix}$$

$$= -1$$

$$\textcircled{v} f(x) = \sin^n(x^r) \quad r_m + n = 8$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = r \sqrt{r}$$

Red lens

$$f''(x) = n^r - n \sin^{n-1}(x^r) \times r x^{r-1}$$

$$f'(x) = n \sin^{n-1}(x^r) \times r x$$

$$\frac{f(x) \times f''(x) + f'(x) \times f'(x)}{m(1 - \cos x)^{m-1}}$$

$$m-1 = n^r - r n$$

$$\textcircled{1} f(x) = \frac{\sqrt{x} + 1}{\sqrt{x} - 1} \quad \xrightarrow{f'(x)} \quad \frac{-\frac{1}{\sqrt{x}}}{(\sqrt{x} - 1)^2} \Rightarrow \frac{-\frac{1}{x}}{2} = -\frac{1}{2x}$$

$$\frac{\sqrt{x} + 1}{\sqrt{x} - 1} = r \Rightarrow \sqrt{x} + 1 = r \sqrt{x} - r$$

$$r = \sqrt{x} \Rightarrow \textcircled{x=9}$$

$$\textcircled{-1/2}$$

$$\frac{\sqrt{x} + 1}{\sqrt{x} - 1} = r \Rightarrow \text{---}$$